DOQ}Q CLOSEQ INSTALLATION INSTRUCTIONS

D-4550EH

Hinge side mounting

LEFT HAND DOOR
ILLUSTRATED

DOOR-MEASURED FROM
HINGE ¢ .

LEFT

- \
HAND DOOR - —— ="~ b -
— 7 HINGE SIDE! 1HINGE SIDE ~~~"--_0

o_ -

SAME DIMENSIONS
APPLY FOR RIGHT HAND [}]

o

—
—

—

F::\\\ RIGHT
=~~~ _HAND DOOR

STOP SIDE

- ]
[T] STOP SIDE

& AdJjust spring power according to chart for track rail application

Max. Door Width

Turns of spring
adjusting nut

Adjust spring power for door width
as indicated in chart. To increase

closing power, turn spring adjusting nut
clockwise.

Close
Size| Exterior | Interior ;;g@et &Eg%wm
1 -— Less than 2 8| -3 0
2 | Less than 2 <6 2~ -8" 0 +3
3 R _6,, 3, _2” +4 +7
4 3, _O// 3/ _8u +12 +20

Spring adjusting nut

Final adjustment

and regulating procedures

éRequlating door speed
and latching speed

Turn socket screw clockwise to slow down or
counter-clockwise to speed up door movement.

e///

This valve controls
latching speed

This valve
controls
door speed

éeAdJjusting hold open force

To increase hold open force, turn
open adjusting screw clockwise.
To decrease force, turn hold open

adJusting screw counterclockwise.

Hold open force
adjusting screw

Test switch

hold

N

& e

%

Rail cover

attaching

SCrews

eAdJUSTINg hold open angle

Remove arm adjusting screw and
open door to desired angte.
Insert screw and fasten

Arm adjusting screw

Main arm

E%Regulating backcheck

The intensity of backcheck action is regulated by valve shown.
Turn clockwise to increase or counter-clockwise to decrease
checking

CAUTION:

Set valve for a sltight cushioning effect.

It is damaging to the closer if the checking action is too
abrupt.

checking action is too abrupt.

Backcheck should never be used in lieu of a door stop

This valve
controls
backcheck

1. With power on, door should remain in the preset
hold-open position

2. Push test switch. The door should begin closing
NOTE:Normal closing speed for 80 dearee
application Is 5-7 seconds evenly divided
between main and latch speed.

3. To ensure proper function, step two shold be
repeated periodically

X
|
[=Eoor |
Lt
*NT__TT__“’%§Ff2~ —————— rpralinitewie Syt ouie s = 0| I
_ml_\x____l___'_— NS 1 — 3 v __J—_—_::::.:u:‘:‘!é%ll”_
1T T11 | 17 LA 1] P
2 | X ' e
Y Xy /preload:ase geen ™ &
\ \\ —m
N 2-#12-24 Machine screw
Turning center of hinge 2-H12 Tapping screw
50 amm 4/5" Hook toward hinge side ‘\
: 26 7/32°  666m / o 1 3/8°
25 19/32”  650mm / \ = 3%mm
. 3 Test switch / \ C:E
©o i 2 3 kﬂa
-~ B Iy e ST #rzﬂ—rru~ 5 |
%g Lt L.+.ﬁ§} i gl Freme
Q H H !
—m ( ey D Y jl N i [ =T
H 3 R T o8} .
Latching speed valve —f % Kz/ ﬁﬁu Qg gg N >§ é?
= = — L& A
Door O~ “wl SE og WY
S ey e i O -1 iz
Closing speed valve///;¥ i Y L AN ©o 1/7/87 NI
177 8m 90\ 528, 6mm \\\ \Spring adjusting nut 48mm Door
' ” ' 2 7/16"
| 13 1/32" \ 331rm A-#12-24 Machine Screw  gamn —H--1
D. A. valve/ \B.C.Valve \\4—n12 Tapping screw

Hold open device

Arm length (X)

Door hold open angles

12-21/3
323mm

13-1/16"|13- 7/16
332mm 341mm

13-26/32114- 1/ 8]14- 1/ 2114-27/32]15- 3/16]15- 9/16715- 3/16716- 1/ 4]16- 5/ §716-31/32
350mm | 359mm 368mm 377mm 386mm 335 404mm 413mm 422mm 431mm

97" 100°

104°| 108°| 112°| 116" 121°| 126° 131°| 137" 144°| 153°

Test switch

PAGE

iliustrated

(D Assemble main arm to closer 45°
away from door as
below. Attach arm with washer
and screw.

Attach closer to door with short
end of closer facing toward hinge

Arm shaft screw

D-4550 closer
assembly

C)OD@D rail cover and connect power supply lines

to terminals
Operating voltage

@ Insert slider of arm inside track
illustrated below.

Track rail

(B Assmble end cap in track rail
Attach track rait
End cap

End cap

24VDC+10% @ 0. 15A /A\WARNING
Terminals Ilml
w
® o7 ® HAZARDUS VOLTAGE
O X @ CAN_ SHOCK AND
® CAUSE SEVERE INJURY
® ] ® —_— Disconnect power before
W mak ing any electrical
connections or performing

({ : malntenance.

on frame with screw.

i

Test switch\\\Rail Cover

® Adjust and regulate door closer for speed
and backcheck as directed at page 1.

® Adjust hold open angle as directed at page 1.

(@ Install cover as follows

Al ign cover openings with the
closer spindle, and snap ends of
cover into position over closer.

Insert is removable
place in unused opening.

77
IﬁL\ cover

PAGE




Stop side mounting

X
Open
/// \ | e8]
; | oE
/(///\Preload.élS B
YaVAY4 N
:m% ——————— I—jf‘ L?—“:f ;tfi?:fi:f:¢:E;:::::::7ﬁ?:FF%E:y I
— Ry — T T e — = = AT ]
{11 I ] ~— I!l i [
. 5-#12-24 Machine screw
: 5-#12 Tapping screw
Turning center of hinge Hook toward hinge side
26 _7/32" 666mm
1 1/2" 7 6 6 6 W% \ . 1 3/8°
38. 1mm 177. 8mmn 152. 4nm 152, 4mm 152. 4 © 35mmn
a5 ig 11/16"
20. 4rm : - D. A Valve Mg 1. .o5mm i, rame
“Test switch )/ B.C.valve | o
Mo == —_— T — === #-—%—r—r—ﬁ—] o I
gkj“ *\ | L;] p
[T —% —t } — ==]
( 3 . Y
Closing speed valve ] b e b ¢
I ] I = _iﬁ ”i N g S ®
Y= = R
i (Ul
Latching speed valve | i N 05 = e
;::I:q 7 9” \ S i dJ Ti t A8mn
dh 477 8mm 228. 6mm pLinY agiusting A 2 T/16”
— =L 13 1/32" 4-112-24 Machine screw  62mm
331mm a4-#12 Tapping screw —1__ L
Hold open device Arm_tength (X)
12-23/3T13-1/16° 13~ 7/16713-25/32]14- 1/ 8] 14- 1/ 2]14-27/32} 15- 3/16]15- 9/16]15- 3/16116- 1/ 4716~ 5/ 8]16-31/32
323mm 332mm 341 350mm 359 368mm 377rm 386mm 395mm 404mm 413mm 422mm 43 1mm
Door hold open angles g6l 89| 92| 9o5°| ¢8| 101°| 105°| 108°} 112°| 116°| 120°| 128°| 129°
(D Assemble main arm to closer 45° @ open rail cover and connect power supply lines
away from door as illustrated 1o terminals
pbelow. Attach arm with washer Operating voltage
and screw. . 24VDC+10% @ 0. 15A
Attach closer to door with short T nal /?\WARNING
end of closer facing toward hinge. erminals
Arm shaft screw XV I.lm
AN
N A ol ®/ e w
O [ N & @ HAZARDUS VOLTAGE
= & 3@ ®!| ollU® CAN SHOCK AND
. CAUSE SEVERE [NJURY.
) Dlﬁonnect Dtlweg ll)er(llre
Main arm D-4550 closer E?gggrtﬁﬁgeo?cpgrggrmlng
assembly _—
@ Insert slider of arm inside track b=

rail and attach end cap as . \ .
©_illustrated below. \ Test switch Rail cover
C

S Track rail
(® Adjust and regulate door closer for speed
End cap i and backcheck as directed at page 1.

® Adjust hold open angle as directed at page 1.

End cap
attaching screw

(M Install cover as follows

. \ Align cover openings with the
@ Attach track rail on frame with screw. closer spindle. and snap ends of

cover into position over closer.

Open rail

Insert is removable
place in unused opening.

|M/
| Cover

cover. l

PAGE




